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COMMERCE AND ACCOUNTANCY

Paper 1

Time - 3 Hours | { Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the wmedium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space

provided for this purpose. No credit will be given for the

answers written in a medium other than that specified in the
Admission Ticket. In case of any doubt in the Kannada text,

please refer to English text.

This paper has four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted to each question are indicated in each part.

All questions in Part A, Part B and Part C are compulsory.
Answer any three questions in Part D,
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PART A 4x5=20
Answer each question in about 50 words. Each question carries 5 marks.
1. (a) What is “Job Costing” ?
(b) Explain the purpose of “Standard Deduction” in Income Tax,
(c) What is a “Holding Company” ?

(d) Distinguish “Vouching” from “Verification”.
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PART B

10x10=100

Answer each question in about 100 words. Each question carries 10 marks.

2. A company purchased machinery on 1-1-2000 for a sum of Rs. 6,00,000.

The retlail price index on that date stood at 150. You are required to

restate the value of the Machinery according to Current Purchasing
Power (CPP) method on 31-12-2005, when the price index stood at 200.

3. H Ltd. acquires 3/4 of the share capital of S Ltd. on 31-12-2005, when

the Balance Sheets of the two companies are as under :

Balance Sheets as on 31-12-2005

Liabilities H Lid. S Ltd. |Assets H 1.td. S Lid.
Rs. Rs. Rs. Rs.

Share Capital Fixed Assets 2,00,000 |1,00,000
(in Rs. 10 shares) 2,00,000 | 1,00,000
General Reserve 50,000 30,000 [Current Assets 1,30,000 |1,20,000
Profit and Loss A/C 30,000 20,000 |Shares in S Ltd. 1,00,000 —
10% Debentures 1,00,000 50,000
Sundry Creditors 50,000 20,000

4,30,000 | 2,20,000 4,30,000 |2,20,000

You are required to calculate the Cost of Control and Minority Interest

for H Ltd.

4. Mr. Nayak is in receipt of annual salary of Rs, 4,00,000. He is provided

with furnished accommodation at Gurgaon. (The population is above

4,00,000) for which his employer pays a rent of Rs. 48,000 p.a. and

deducts Rs. 2,000 p.m. from the employee’s salary. The cost of furnishing

the residence amounts to Rs. 60,000. Calculate the value of perguisites,

if the house is occupied for 9 months only.
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5. What are the types of Audit Opinion that are expressed in the Audit
Report ? Nlustrate a qualified opinion.

6. You are required to prepare the Profit and Loss Statement under
Marginal Costing using the following data :
Total Units produced 1,000 Nos; Total Units Sold 800 Nos; Selling Price
per unit Rs. 10; Total Fixed Overheads Rs. 3,000,
Cost Structure (Rs. per unit) :
Direct Material Rs. 2: Direct Wages Re. 1, Variable Overhead Rs. 2;
Fixed Overhead Rs. 3.

7. The net profit, after making a provision of Rs. 3,30,000 for Income Tax
of TATA Ltd. for the year ended 31-3-2005, amounts to Rs. 3,00,000.
This figure of the net profit has been arrived at after taking into account

the following items :

Depreciation on fixed assets Rs. 65,000
Preliminary expenses writlen off Rs. 7,000
Bad debts Rs. 1,000
Loss on sale of furniture Rs. 1,500
Profit on sale of long-term investments Rs. 5,000

Calculate Funds from Operations.
8. What are the functions of IDBI ?
9. Distinguish “Account Payee” cheque and “Bearer” cheque ?

10. What are the factors that must be considered while estimating working
capital requirements ?

11. Distinguish ‘Inlernal Rate of Return method’® and ‘Discounted Cash flow
method’ in Capital Budgeting.
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PART C 6x15=90

Answer each question in about 150 words. Each question carries
15 marks.

12. The Balance Sheet of Tit for Tat Company Ltd. discloses the following
financial position as on 31% March, 2005 :

Liabilities Rs. jAssets Rs.
Paid-up Capital : 3,00,000|Goodwill at cost 30,000
30,000 shares of Land and buildings at cost
Rs. 10 each, fully paid (Less : Depreciation) 1,75,000
Capital Reserve 60,000|Plant and Machinery at cost
Sundry Creditors 71,000|(Less Depreciation) 90,000
Provision for Taxation; 55,000/Stock at Cost 1,15,000
Profit and Loss A/C 26,000|Book Debts 98,000
Less : Provision for
Doubtful debts 3,000 95,000
Cash at Bank 7,000
5,12,000 5,12,000

You are asked to value the goodwill of Tit for Tat Company Ltd,,
for which purpose, the following information is provided :

(a)  Adequate provision has been made in the accounts for Income tax
and depreciation.

(b) Rate of Income tax may be taken at 50%. Profit, during the year
may be assumed at Rs. 55,000.

(¢)  The average rate of dividend declared by the company for the past
five years was 15 percent.

(d} The reasonable return on capital invested in the class of business
done by the company is 12 perecent.
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13. The following is the Balance Sheet of H Ltd, and its subsidiary S Ltd,,
as on 31" December 2005

Balance Sheet as on 315 December 2005

Liabilities Rs. Rs. |Assets Rs. Rs.
Share Capital in Re. 1 shares | 10,000 8,000|Buildings 4,000 -
Reserves 4,000] 3,000!Plant 1,000t 6,000
Bills Payable 2,000| 1,000|Stock 4,000] 86,000
Creditors 5,000{ 4,000(Shares in S 6,000 —
Profit and Loss A/e 4,000 2,000|Debtors 0,000( 3,000
Bills Receivable| 3,000/ 2.000
Cash 2,000 1,000
25,000118,000 25,000[18,000

Debtors of H Ltd. include Rs. 2,000 due from 8 Ltd. and bills payable
of H Ltd. includes a bill of Rs. 500 accepted in favour of S Itd. A loan
of Rs. 1,000, given by H Ltd. to S Lid., is also included in the items of
debtors and creditors, respectively. Rs. 500 is transterred by S Ltd.
from Profit and Loss account to Reserve out of current year’s profits.
Shares were purchased on 30th June 2005 at par. Prepare a
Consolidated Balance Sheet.

14. Y & Co. is engaged in the manufacture and sale of a product called
“Akai”. Its budget for ithe next year shows the following :

Selling Price Rs. 10
Variable Cost per unit Rs. 5
Fixed Cost Rs. 40,000

Demand 10,000 units
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It wants to diversify into product “Blue Star” in order to reduce its
market risks and its corporate planning department has estimated the
following for the new product

Selling price Rs, 12

Variable Cost per unit Rs. 6
Fixed Cost Rs. 18,000
Demand 4,000 units

You are required to suggest whether diversification js advisable for the
firm.

A Company is considering the following investment projects :

Projects Cash Flows (Rs.)
Co C1 C2 C3
A — 10,000 + 10,000
B — 10,000 + 7,600 + 7,600
C — 10,000 + 2,000 + 4,000 + 12,000
D — 10,000 + 10,000 + 3,000 + 3,000

(a) Rank the project according to each of the following methods :
(1) Pay Back

(i) NPV, assuming discount rates of 10 and 30 percent

(b) Assuming the projects are independent, which one should be
accepted ? If the projects are mutually exclusive, which project is the
hest ?

NPV for Re. 1 for interest rates 10% and 30% for 3 years respectively
are as follows :

Year 10% 30%
End of 1% year 0-909 0769
End of 2" year 0-826 0-592

End of 3™ year 0-751 0-455
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16. What changes in Prudential norms are suggested by the Narasimham
Committee ? Comment on the impact of these norms on the functioning of

nationalized RRBs in India,

17. When can a cheque be dishonoured by a Bank ? When should a Bank
dishonour a cheque ?
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PART D 3 X3 0290

Answer any three of the following questions, each in about 300 words.
Each question carries 30 marks.

18. At 100% capacity (1,00,000 hours), the monthly production overhead
budget for a factory is as follows :

Rs. Category
Salaries 40,000 C
Indirect Wages 8,000 B
Repairs and Mainlenance | 5,000 B
Consumable Stores 4,000 A
Miscellaneous 5,000 B
Spoilage 2,000 A
Fuel and Power 15,000 A

The behaviour of various categories of expenses was as follows :

Activity as a % Multiplier applicable to budget
of capacity Category A | Category B | Category C
80 0-85 1-00 1-00
g0 0-93 1-00 1.00
100 1-00 1-00 1-00
110 1-06 1.:00 1.00
120 1-12 1-00 1.00
130 1-18 1-10 1-00
140 1-23 1-10 1-00
150 1-28 1-10 1.20
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There were three products and, in a month, the total production was

expected to be
X 10,000 units
Y 15,000 units

7 5,000 units

The standard hours per unit of the three products were agreed to be 5
for X, 4 for Y and 6 for 7Z. Prepare Production Overhead Budget for the

concerned month.,

The following is the Balance Sheet of A Ltd. :

Liabilities Rs. [Assets Rs‘_m
Share Capital (Rs. 10 Shares)| 10,000(Fixed Assets 8,000
General Rescerve 5,000({Current Assets| 12,000
Sundry Credilors 5,000

20,000 20,000

The business is taken over by B Ltd. for a sum of Rs. 30,000 to be

salisfied by issue of shares of Rs. 10 each. The current assets of A Ltd.

include goods of the value of Rs. 5,000, which was purchased by it from
B Ltd., on which B Lid. charged a profit of 25% on cost. The curreni
assets of A Ltd. also include a debt of Rs. 2,000 due from B Ltd. to
A Ltd. for goods purchased and which have now been complelely sold

by that company.

Prepare Realization Account and the Shareholders Account in the books

of A Ltd. and pass necessary journal entries for the acquisition of the

business in the books of B Ltd.
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20, From the particulars given below, compute the amount of tax payable by

21,

Mr. Mahesh for the Assessment Year 2006 - 07 :

Basic Pay

Dearness Allowance

City Compensatory Allowance

House Rent Allowance @ Rs. 6,000 p.m.
Rent paid at Chennal @ Rs. 7,000 p.m.

Life Insurance prermium paid

Amount paid into Recognized Provident Fund
Amount paid into Publiec Provident Fund
Long-term Capital gains

Other Income

He paid tuition fee for his son and daughter, who arc
studying KEngineering @ Rs. 22,000 each,

He paid Profession Tax @ Rs. 200 per month

Rs.

1,880,000
48,000
2,880
72,000
84,000
7,500
8,000
14,000
20,000

12,000

44,000

2,400

“Recent changes in prudential norms of RBI have helped the banks, but
created challenges to the agriculturalists in rural India.” — Comment.

ICICT and IRCI ?

. What are the functions of all-India term financial institutions like IFCI,
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COMMERCE AND ACCOUNTANCY

Paper 2

Time : 3 Hours | [ Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. No credit will be given for the
answers written in a medium other than that specified in the

Admission Ticket. In case of any doubt in the Kannada text,

please refer to English text.

This paper has four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Muarks allotted to each question are indicated in each part.

All questions in Part A, Part B and Part C are compulsory.
Answer any three questions in Part D.
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PART A 4x5=20
Answer each question in about 50 words. Each question carries 5 marks.
1. (a) Distinguish Line and Staff siructures.

(b) What are the basic features of IHerzberg’s Two-factor theory of
motivation ?

(¢c) What are the essential conditions required for Workers’
Participation in Management ?

(d} What is ‘Absenteeism’ ? Explain the causes of Absenteeism.
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PART B 10x10=100

Answer each question in about 100 words. Each question carries 10 marks.
2. Iistinguish Formal from Informal organization.
3. What are the sources of power in Bureaucracy ?
4. Explain the theory of motivation propounded by Abraham Maslow.
5. What are the basic features of Transactional Analysis ?

6. How is Organizational Efficiency different  from Organizatlional
Effectiveness ?

7. What arc the forms and levels of participation in Workers’ Parlicipation
In Management ?

8. “Collective Bargaining and Workers’ Participation in Management do nol
go together.,” — Comment.

9. Distinguish “Fair Wage” from “Minimum Wage”.
10. What are the causes of Labour Turnover in Indian [ndustry ?

11. What are the objectives of Executive Development Programmes ?
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PART C 6x15=90

Answer each question in about 150 words. Each question carries
15 marks.

12. List the theories of Trade Unionism. Distinguish ‘Industrial Democracy
Theory’ from ‘Revolutionary Theory’.

13. Briefly explain the functioning of the official machinery available in India
for the settlement of industrial disputes.

14. Briefly explain the importance acquired by Child Labour and Human
Rights violations in recent times in the ILO.

15. Whal are the causes of conflicts in Organizations ? What is the oulcome

of such conflicts ?

16. Define ‘Organizational Structure’. What are ‘Structural forms’ ?

17. Whal is ‘Organizational Change’ ? Describe Organizational Change

cycles.
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PART D 3x30=90
Answer any three of the following questions, each in about 300 words.
Each question carries 30 marks.

18. What is ‘Conciliation” ? How is it different from ‘Arbitration’ ? Explain

with relevant examples.

19. What are the aims and objectives of IL0) ? Explain how the emergence of
Business Process Outsourcing gained importance in 1LO.

20. Explain the role of productivity in cost reduction in an organization.

21. How do you formulale orgamzalional goals ? What are Primary and
Secondary goals ?

22. What are the barriers to communication in organizations ? How do you
overcome them ?
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